CLEANING

WARNING: 1. Use soft damp cloth to clean machine, then wipe with dry cloth.

2. Do not wet the motor and inner electric box during cleaning.

3. Do not use harmful cleaners to paints or plastics.

4. Do not bend the blades.

5. The motor bearings are permanently sealed and do not require additional
lubrication.

IMPORTANT: Surges in electrical power or excessive heat may cause the fan to
turn off. Wait approximately 15 minutes for the fan to resume operation.

ASSEMBLY INSTRUCTIONS

The wall fan must be mounted by following the diagram on 12 inch (300mm) thick dry
and cement - grouted firm wall or on 4 by 5 inch wood studs / joists.

El Mounting plate canent

bing boks
%
!
— H
7 ”
16-~20mm|

Back guard

Motor

Fan blade

Font guard

A cAuTON. )

BEFORE ASSEMBLING FAN TO MOUNTING BRACKET
MAKE CERTAIN THAT THE BRACKET SUPPORT

WALL CAN SUPPORT FAN.

MODEL: FB2-65X(6) ITEM: EA284 RATING: 120V~ 60Hz 150W
MODEL: FB2-75X(6) ITEM: EA285 RATING: 120V~ 60Hz 220W

MAITR

INDUSTRIAL PRODUCTS

OWNER'S MANUAL

HIGH VELOCITY WALL FAN

MODEL: FB2-65X(6) ITEM: EA284
MODEL: FB2-75X(6) ITEM: EA285




READ AND SAVE THESE INSTRUCTIONS

CAUTION: Read and follow all instructions before operating fan. Do not use fan if any

part is damaged or missing.

WARNING:

- To reduce the risk of fire or electrical shock, do not expose to water or rain.

- To reduce the risk of fire or electrical shock, do not use this fan with any solid state
speed control device.

- Automatically operated device - to reduce the risk of injury disconnect from power
supply before servicing.

- To reduce the risk of injury to persons, install fan at least 2.1m (7 feet) above the floor.

- Do not operate any fan with a damaged cord or plug. Discard fan or return to an
authorized service facility for examination and/or repair.

- Do not run cord under carpeting. Do not cover cord with throw rugs, runners, or similar
coverings. Do not route cord under furniture or appliances. Arrange cord away from
traffic area and where it will not be tripped over.

- The appliance does not apply to be used in locations where special conditions prevalil,
such as the presence of a corrosive or explosive atmosphere (dust, vapour or gas).

- This appliance is not intended for use by persons (including children) with reduced
physical, sensory or mental capabilities, or lack of experience and knowledge, unless
they have been given supervision or instruction concerning use of the appliance by a
person responsible for their safety.

- Children should be supervised to ensure that they do not play with the appliance.

RULES FOR SAFE OPERATION:

1. Never insert fingers or any other objects through the grill guard when fan is in
operation.

. Install in interior wall. Not for use in kitchens.

. Disconnect the fan when removing guards for cleaning.

. Be sure fan is mounted at least 2.1m (7 feet) above level..

. Do not use fan in windows. Rain and moisture may create electrical hazard.

. Do not place the fan near an open flame, cooking or heating appliance, or hot surface.

. This fan should not be operated outside.

CAUTION: Do not alter the fan's assembly.

WARNING: Be sure front and rear guard screw are completely screwed down in locking
position before operation.

~NOoO O~ WN

WARNING: TO REDUCE THE RISK OF FIRE, ELECTRIC SHOCK, OR INJURY TO

PERSONS, OBSERVE THE FOLLOWING.

a) Installation work and electrical wiring must be done by qualified person(s) in
accordance with all applicable codes and standards, including fire-rated construction.

b) Sufficient air is needed for proper combustion and exhausting of gases through the
flue (chimney) of fuel burning equipment to prevent back drafting. Follow the heating
equipment manufacturer's guidelines and safety standards such as those published by
the National Fire Protection Association (NFPA), and the American Society for
Heating, Refrigeration and Air Conditioning Engineers (ASHRAE), and the local code
authorities.

¢) When cutting or drilling into wall or ceiling, do not damage electrical wiring and other
hidden utilities.

INSTALLATION INSTRUCTIONS

The wall fan must be mounted by following the diagram on 12 inch (300mm) thick and
dry, cement - grouted firm wall or on 4 by 5 inch wood studs / joists.

Use wall bracket of wall mount assembly as a template for locating the holes to be
drilled on mounting surface.

After determining the 4 hole locations, use an appropriately sized drill bit and, drill
holes through mounting surface. Reference acceptable mounting surfaces and
appropriate drill bit sizes for application.

Attach wall mount assembly to mounting surface using hardware not provided. It is
recommended that a minimum of grade 5 fasteners be used. The following are
accepted surfaces for mounting wall mount assembly.

WOOD SURFACE - When mounting to a wooden surface, or wall, surface shall be a
minimum of 1 inch thick. Using 5/32" drill bit, drill 4 pilot holes at pre-marked locations.
Use four 1/4" wood lags of appropriate length (minimum 1 inch ) for mounting surface
thickness.

STEEL SURFACE - When mounting to a steel surface of sufficient strength, such as a
vertical I-beam, drill 4 holes at pre-marked locations, using a 9/32" drill bit.

Attach wall mount assembly to mounting surface using 1/4"-20 hex screw of
appropriate length, in combination with 1/4" flat washers, 1/4" lock washers, and 1/4"-
20 hex nuts. MASONRY SURFACE - When mounting to a masonry surface use a 1/4"
expansion type bolt or 1/4" masonry lag with shield. Drill 4 holes at pre-marked
locations using appropriate sized drill bit as recommended for fastener.

OPERATING INSTRUCTIONS

SPEED CONTROL: Pull switch to low, mid and high speeds for respective air velocity.
It is normal for the motor to feel warm to touch after continuous operation.

This fan features a thermostat that will automatically shut off should it overheat for any
reason. If this happens, immediately unplug the fan from the outlet.

SETTING OSCILLATING MODE (requires use of screwdriver): There are two
adjustment holes under the clutch plate.

1. When the positioning screw is set to the middle of the rotating plate, the fan does not
oscillate. (See Figure 1)

2. When the screw is in the offset position, the
fan will oscillate. To change the setting,
unscrew the screw and replace in the
alternate position.

CAUTION: Disconnect from mains before
changing the setting.(See Figure 2)

positioning |
screw _—8
SPEED CONTROL: Turn switch to LOW,

MIDDLE and HIGH speeds for respective air
velocity.

: fan head
~<

positioning |
screw  —




CONTROLE DE LA VITESSE:
Tourner le bouton aux vitesses LOW, MID et HIGH, selon la vitesse de ventilation
désirée.

NETTOYAGE

MISE EN GARDE: Débrancher de toute source d'alimentation électrique avant
d’effectuer le nettoyage. Utiliser un chiffon doux et humide et essuyer ensuite avec un
chiffon sec. Ne pas utiliser de nettoyants qui pourraient étre dommageables a la peinture
ou au plastique. Ne pas plier les pales du ventilateur.

IMPORTANT: Une surtension électrique ou une chaleur excessive peuvent entrainer
I'arrét du ventilateur. Veuillez attendre environ 15 minutes avant de repartir le ventilateur.

DIRECTIVES D'ASSEMBLAGE

Le ventilateur mural doit étre monté selon la méthode indiquée sur le schema sur un mur
ferme d'une épaisseur de 300 mm (12 pouces) a paroi séche et a coulis de ciment ou sur
des solives/colombages de 4 x 5 pouces.

m Plague de montage

-

4\ MISE EN GARDE

Base du montant mural

Protecteur arriére  Moteur

Pale de ventilatleur

Protecteur avant

MODELE: FB2-65X (6) ARTICLE: EA284 PUISSANCE: 120V~ 60Hz 150W
MODELE: FB2-75X (6) ARTICLE: EA285 PUISSANCE: 120V~ 60Hz 220W

MATR

PRODUITS INDUSTRIELS

MANUEL D'UTILISATION

VENTILATEUR MURAL HAUTE VELOCITE

MODELE: FB2-65X (6) ARTICLE: EA284
MODELE: FB2-75X (6) ARTICLE: EA285




LISEZ ET CONSERVEZ CES INSTRUCTIONS

ATTENTION: Lire et suivre toutes les instructions avant de faire fonctionner le ventilateur. Ne
pas utiliser le ventilateur si des pieces manquent ou sont endommagées.

MISE EN GARDE:

- Afin de réduire les risques de feu ou de choc électrique, ne pas exposer a I'eau ou a la pluie.

- Afin de réduire les risques de feu ou de choc électrique, ne pas utiliser ce ventilateur avec un
dispositif de contréle a semi-conducteurs.

- Si le cordon d’alimentation est endommagé, il doit étre remplacé par un cordon spécial par
une personne spécialisée ou toute autre personne qualifiée afin d’éviter tout risque.

- Ne pas utiliser un ventilateur avec un cordon ou une prise qui présente des dommages. Un
ventilateur endommagé doit étre jeté ou réparé/examiné dans une installation de service
autorisée

- Ne pas faire passer le cordon sous un tapis. Ne pas couvrir le cordon d’une carpette, d’'un
tapis de couloir ou d'un autre revétement semblable

- Ne pas faire passer le cordon sous les meubles ou les électroménagers. Placez le cordon en
retrait de la circulation, ou il ne présentera pas un risque de trébuchement

- L'appareil ne doit pas étre utilisé dans les endroits ou des conditions spéciales sont en
vigueur, comme en présence de substances corrosives ou explosives (poussiére, vapeur ou
gaz).

- L'appareil n'est pas congu pour étre utilisé par des personnes (y compris les enfants) avec
des capacités physiques, sensorielles ou mentales réduites, ou avec un manque
d’expérience ou de connaissances, sauf si une supervision et des directives sont fournies par
une personne responsable de leur sécurité.

- La supervision des enfants est requise pour s’assurer gu'ils ne jouent pas avec l'appareil.

REGLES POUR UN FONCTIONNEMENT SECURITAIRE:

1. Ne jamais insérer les doigts ou tout autre objet a travers le protecteur grillagé lorsque le
ventilateur fonctionne.

2. Installer sur un mur intérieur.

3. Ne pas utiliser dans des cuisines.

4. Débrancher le ventilateur lorsque vous nettoyez les protecteurs.

5. Vous assurer que le ventilateur est monté a une hauteur minimale de 2,1 m (7 pieds).

6. NE PAS UTILISER le ventilateur dans les fenétres.
La pluie et 'humidité pourraient entrainer des risques électriques.

ATTENTION: Ne pas modifier le montage du ventilateur.
MISE EN GARDE: Vous assurer que les écrous des protecteurs avant et arriere soient bien
vissés jusqu’au fond en position de verrouillage avant la mise en marche.

MISE EN GARDE: AFIN DE REDUIRE TOUT RISQUE DE FEU, DECHOC ELECTRIQUE
OU DE BLESSURES, SE CONFORMER A CE QUI SUIT.

a) Les travaux d'installation et de raccord électrique doivent étre effectués par des personnes
qualifiées conformément a tous les codes et normes applicables, y compris ceux de la
construction ayant trait a la résistance au feu.

b) Une quantité d’air suffisante est requise pour la combustion et I'évacuation des gaz par la
cheminée de I'équipement de combustion afin de prévenir tout refoulement. Suivre les
directives du fabricant de I'équipement de chauffage et les normes de sécurité comme celles
publiées par la National Fire Protection Association (NFPA) et I'’American Society for

Heating, la Refrigeration and Air Conditioning Engineers (ASHRAE) ainsi que les normes des
autorités locales.

¢) Lorsque vous coupez ou percez le mur ou le plafond, ne pas endommager le filage
électrique et autres services qui pourraient y étre dissimulés.

DIRECTIVES D’'INSTALLATION

Le ventilateur mural doit étre monté selon la méthode indiquée sur le schéma sur un mur
ferme d’une épaisseur de 300 mm (12 pouces) a paroi séche et a coulis de ciment ou sur

des solives/colombages de 4 x 5 pouces. Utiliser le support mural de I'ensemble de montage
comme gabarit afin de dessiner les trous a étre percés sur la surface de montage. Apres avoir
déterminer la position des 4 trous, utiliser un foret de dimension appropriée et percer les trous
dans la surface de montage. Veuillez vous référer aux dimensions de foret appropriées pour le
montage. Attachez le support mural au mur en utilisant la quincaillerie qui n’est pas fournie. Il
est recommandé d'utiliser des piéces de fixation de calibre minimal de 5. Les surfaces suivantes
sont considérées comme acceptables pour recevoir le support mural:

SURFACE EN BOIS — Lorsque le support est monté sur une surface ou un mur en bois, la
surface doit avoir une épaisseur minimale de 1 pouce. A l'aide d’un foret de 5/32”, percer 4
trous de guidage aux endroits précédemment marqués a I'aide d'un gabarit. Utiliser 4 tire-fonds
a bois d'un diamétre de 1/4" et d'une longueur appropriée (minimum de 1 pouce) pour couvrir
I'épaisseur de la surface de montage.

SURFACE EN ACIER — Lorsque le support est monté sur une surface de force satisfaisante
comme une poutre en |, percez 4 trous de guidage a des endroits précédemment marqués a
I'aide d'un gabarit avec un foret de 9/32". Reliez I'ensemble de support mural & la surface de
montage a I'aide de vis a téte hexagonale 1/4"-20 de longueur appropriée ainsi que des
rondelles plates de 1/4", des rondelles de sécurité de 1/4" et des vis a téte hexagonale 1/4"-20.

SURFACE DE MACONNERIE — Lorsque le support est monté sur une surface de maconnerie,
utiliser un boulon a coquille d’expansion de 1/4" ou un tire-fond & magonnerie de 1/4" avec
ancrage. Percer 4 trous aux endroits précédemment marqués a I'aide d’un foret de
dimensions appropriées pour la fixation.

CONSIGNES D'UTILISATION

CONTROLE DE LA VITESSE: Peser sur le bouton LOW, MID ou HIGH selon la vitesse
de ventilation désirée. Aprés une certaine période de fonctionnement, il est normal que le
moteur dégage de la chaleur. Ce ventilateur est muni d’un thermostat qui s'arrétera s'ily a
surchauffe pour une raison ou une autre. Si c’est le cas, débrancher immédiatement le
ventilateur de la prise.

Figure 1 téte du
ventilateur

REGLAGE DU MODE D’OSCILLEMENT (Tournevis requis) :
Il'y a deux trous de réglage sous le disque d’embrayage.
1. Lorsque la vis de réglage est ajustée au milieu du
disque d’embrayage, le ventilateur n'oscille pas.
(Voir la figure 1). vis de _—
2. Lorsque la vis est décalée, le ventilateur oscillera. Afin de
changer le réglage, dévisser La vis et la replacer dans une

autre position. téte du

ventilateur

ATTENTION: Veuillez débrancher avant de
changer le réglage. (Voir figure 2)

vis de
réglage



	FB2-65.75X manual-英文 p1.pdf
	FB2-65.75X manual-英文 p2.pdf
	FB2-65.75X manual-法文 p1.pdf
	FB2-65.75X manual-法文 p2.pdf

